ALP_Smart Syllabus -~ FREE Smart Test Series By taleemcity.com

| dll] dia) 9 @Sale Ml

A3 265 B v dnin S odad -8 U aw e g3 o OT w0 ol w Cenmy (§ ] Gy Al
b oo ol § Y 650 o Gl 4 A 8 Gl me 355§ pdad e OlSlygl 3dgr § Sy
s L

S & & Gl §plS odilul piiome gl Bdus (glad « 285 55 DS dloxiel § Os70 St plod 4
Az —om & &0 S 81 Llg Ogwae g S SOl SOl e pld & Oganae Qb S
20 Gl ¢ @ o DI § 25 P Cud Cod pogate m o WS el (e Ogsa> Cilises S
on B b W G 5y Jodieds Jy (ouSls

Gt 8§ (poline 425 -0 2 90 S S/ 03 B Brw ae pa> Jlg Db W15 5 e S
& 099 & (mebae cdllleli Ol W 5 el s - i WS puddas dS° 5 g UgSos oS p1,S 05l
-u}gé/é‘p;f@)g‘ﬂﬁ&éu%g

Jolie Pl 2 8 Gl Oblgz - (p)S & Ly dmie Vg ©blsx § (929500 g 35S Sy s
w8 S

85 o QT s . allslis O) ¢ § 3T G e 8 AumesS H90 Slainy 45 w0 (258 v Ol plas
-iel Qlayd e ps- Sl

S Obxinl & 3T Pl gl & Sblowial 0L S L5 55 s oy I3 Sbog S w0 led e ¢Jla3 Xl
Qe il Jlad dl _onalldl ) b el - 65y Sbo Vlg A 3§ el 55 09z 091 Vg 3 S G
Lb.;uQJLwTujAwL&Ug\dwi‘oisiw‘%»dimg%.&w O o> elacl elas ¢
- Cawwl 9393 éuﬁ@ﬂajgaac)@@ ‘ﬁl.o:& -oloyd

o Wy b el

wLwaumuLw,wﬂ;&éJLw;bJMﬁvgwuye_bﬁww,\g

—Uby S
Leddls

L[&fbﬂ)) LN

taleemcity.com



Test# 1 Physics Unit # 1
Time: 1 Hour Class-10t Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) TS L oz s -1
1 The spring's constant is: e 2 1
K=—-= (D) w=mg (C) F=ma (B) K = — % (A)
2 Force applied on a body attached with a spring is _Jn f”,/ éﬁf’,; TP Jg y (/ iw i e Lz 2
directly proportional to the. C ’ ’
Spring j/“/ (C) Displacement .. Ji (B) Amplitude 3,! L};:’, (A)
None of the above »" i,/ . # . (D)
3 In simple harmonic motion velocity of the object is e Jn 2l e ol ) (5 Us J() S S L g3
maximum at. L ) )
Only one extreme position , ., éb"w'! (i (B) Both extreme positions , . ;y éL:%'! Ude (A)
All of the above , o (D) The mean position , .,y i(.,, (C)
4 How many types of Mechanical waves are. cur ru, U‘yd/b‘ﬁ J{,»g( 4
Five ¢, (D) Four , (C) Three & (B) Two,, (A)
5 Which device can be used to produce both o U Je ."7 U/gL/u{. 5oy J’;,ﬁ;@ MU S
transverse and longitudinal waves? ’ ) N o
A helical spring j{ ng‘ (C) Arippletank _¢% J (B) Astring $s3 (A)
A Tuning fork s, &, (D)
6 Crests of water waves in a ripple tank behave like A ‘f.://;,//é i S L AL 6
convex lens and. ’ P 'w Ialt
Appear as dark fringes ol A u,f»ﬁ L (A)
Appear as coloured fringes gl A u;/i d::(/ (B)
Diverge the light s > /2, s ' 5, (D) Convergethelight 5 Sz, §,, (C)
7 Troughs of water waves in a ripple tank behave like 7 .7 b J/.“J S d/dl O st 2 L T
concave lens and. ’ - o
Appear as bright fringes ¢ =, 5 U!/:fc;u (A)
Appear as coloured fringes g A w/.ﬁdﬁfz (B)
Diverge the light > /¢, 45 &/ ¥, (D) Convergethelight 5 Sz, §,, (C)
2- Answer the following questions: (7x2=14) 2 ez 2L ey S5t 2
(i) Find the time period and frequency of a simple e 'Q/f’w UH}{/ ey (/’Lb g%,}@ oy &u 22 @
pendulum 2.0m long at a location where —9 8ms_2
g=9.8ms 2. g =7
(i) Define Crest and Trough. Gl S Sl S G
(iii) With respect to simple pendulum, what is difference S S e Jgﬁ, MR e s L 8,;‘;{ ol (i)
between vibration and amplitude? ‘
(iv) Write an activity that shows that water waves transfer ; . . . i/ JGL S et U7 J///? dj/ s Gv)
energy without transfer of medium. ,C Srn e ,J? .g ! ) uuu JI’:? }J/&/.’ 9 s
e S
(v) Names two basic categories of waves. <Uf‘f o L ru‘, bk 2 JJ}J, )
(vi) How geophyscists learn about the internal structure of Sy S S Kl ot & s el (v
Earth? ) )
(viy  Define reflected wave. Ny S B, (viD)
Note : Attempt the question in detail. 4+5=9) 2 iz <}“;~’ €y S5t iad
3(a)  Prove that the motion of simple pendulum is simple S ek S (F) JH,;_,“ b S et (@3

Harmonic motion. -
- U




(b) A wooden bar vibrating into the water surface in a Sy 676 v L/aju , 5 JGL > & Jd £ )

ripple tank has a frequency of 12 Hz. The resulting Jy; b &t e U - 12Hz W;/ d/‘-%f
wave has a wavelength of 3 cm. What is the speed of N -t T N

the wave? ?Jﬂ Ve u(zﬁ -« 3cm ,}éﬁg,



MCQs Ans Key

Q:1 (A) Q:2 (B)
Q:7 (B)

Q:3 (A)

Q4 (A)

Q:5 (C)

Q:6 (C)



Test# 2 Physics Unit# 2
Time: 1 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) -ufq/’w/ PANT JCPN |
1 When we strike the tuning fork on a rubber pad, the ST BT g ey f Sib Bxt A 1
vibration of tuning fork can be felt by touching its. ’ w é /’/J;} [Lﬁ’/b
Middle part /,g S - &&,/} (C) Stem /,g S (B) Prongs /.7 Sk (A)
None of them 7 i/ . # . (D)
2 When a body vibrates about its mean position, it —ut G Sy Jé’/:fd,, st <l A 2
produces. ) N
Sound waves ;,, 4. (C) Electromagnetic waves ;,, Q@g,;g, (B) Lightwaves ;,, ..z (A)
Transverse waves ;,, r,,J; (D)
3 One bel is equal to: L3
dB10 (D) dB90 (C) dB20 (B) dB40 (A)
4 The characteristics of sound by which a shrill sound 55 45 L SN U/f" e U7 e d/,ul/ 4
can be distinguished from a grave one is called. - de é Vs
Quality UJ‘:’/ (D) Pitch & (C) Intensity U‘/ﬂ“’ (B) Loudness J!}U (A)
5 S.1 unit of intensity of sound is. e ooy SIK &L U u-/‘fb"', 5
Wm? Wm?2 (D) Decibel f 5 (C) Wm2Wm 2 (B) Bel t (A)
6 Speed of sound at 25°C in flint glass is: e L J;,,f 25°C AUk Ik 6
m/s3980 O) m/s5960 (©) m/s6040 B) m/s5950 (A)
7 Ultrasonic are the sound waves with frequency higher V [}n ol U»;,{/ U{J Ut g X3 S L P T
than the. ‘ ) )
Hz 25,000 (D) Hz 20,000 (C) Hz 16000 (B) Hz 8000 (A)
2- Answer the following questions: (7x2=14) 2 iz L ety f5 00 -2
(i) What is the necessary condition for the production of o b §n/ Unt KJ;;!/ S s u{i L L/'/i,v s @D
sound?
(i) Define "Bel". sy S« G
(i) Why the sound of women is shrill as compared to U e Gt LA oks = St §un s 2o §USF GiD
men? L T
(iv) What is meant by auidible frequency range? S o e i d/b‘*“)g/ d/;g;l/ e JE Gy
(v) Write a brief note on any one factor upon which A A e o éﬁ. Jb L U((f/i;’ W)
loudness of sound depends. ’ )
(vi) Calculate the intensity level of the faintest audible u"kﬁ, £l Js u"-/'"f, € il s rﬂ’)‘ e S (Vi)
sound of intensity 102 Wm 2 ;10—2 Wm 2
(vii)  What would happen to the loudness of sound with ey S L A J%L« e by L u/)f/ (vid
increase in its frequency? ) ’
Note : Attempt the question in detail. (4+5=9) 2 iz <§“;~ € S5t iad
3(a)  Whatis intensity level of sound? Write the name of its _ufj ey LU e Ui u"«":"', a3
unit. L )
(b) A sound wave has a frequency of 2 KHz and 35cm s 2KHz 2 ,;ﬁfg; sl u»f.,{/ Ji’ Jo Vg )

wavelength 35 cm. How long will it take to travel 1.5 v K iy T L5 b Lol € 1.5km < -
: T J0J. . ~QCié
Km? - :




MCQs Ans Key

Q:1 (A) Q:2 (C)
Q:7 (C)

Q:3 (D)

Q:4 (D)

Q:5 (C)

Q:6 (D)



Test# 3 Physics Unit# 3
Time: 1 Hour Class-10t Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) -ufq/’w/ PANT JCPN |
1 The lens formula for convex lens is. e AL LA J@/ 1
1_1 1 pl__ 1 1 lL_1,1 @ 1_1_1 (@A
1-1-1 @ 1--1_1@ 1-141 @ 1-21_-1(@
2 In conves mirror focus is: e by Jj €., Jffv(g 2
On the mirror ¢ ~ Ly (C) Infront of mirror s (. ~ Ly (B) Centre the mirror &~ Lr (A)
Behind the mirroré Z ., D)
3 Focal length of concave lens. - &n /}Q J{} d//frﬁ 3
is smaller é,,g (D) is greater S (C) is negative ;;fé (B) is positive g,y (A)
4 If an image is three times of its object, then the 4,(;4 u"/? u—? Siny FLE g(). U//(’ 4
magnification is
6 (D) 3 (C) 4 (B) 2 (A
5 The angle of triangular surface opposite to the base et § Ut d/rj/ Je 2 Jf/ /K/LJ J,; 5
of prism is called. ‘ ) ’
Incidentray J},p, (C) Angle of prism iy 7 JQ, (B) Angle of incidence J}.p, T Jﬁ, (A)
Refracted ray ., 76, (D)
6 The rays reflected at angle of in totally St &n ol e o &, i @kl S Jb/" 6
reflecting prism: : ’
180° (®) 90° (C) 60° (B) 45° (A)
7 Power of lens is reciprocal to: e Qe A 7

For focal point .~ .z, Fj (C) For Diopter ~ AT 33

2- Answer the following questions:

(i)

(ii)
(iii)
(iv)

v)

(vi)

(vii)

Note : Attempt the question in detail.

3(a)

(b)

Define pole and show it in diagram.
Why convex mirror also diverging mirror?

What are sign conventions of image distance?

4

(7x2=14)

(B) For focal lenght ~~ ;ﬁj ij (A)
For Principal focus .~ /j Jj? (D)

el Uy

2 iz L ety f5 00 -2

®

?u;;'/-u:l gf‘f'{// ué./}f!f[// J§/ (i)

el o L L b6 G LA

Define the following terms used in refraction. i) Angle _ , /" _; >/ S ebbot S5 00w Sy dom Jir U2 ﬂ//

of incident ii) Angle of refraction

An object is front of convex mirror at distance of 14
cm. The image is 5.8 cm behind the mirror, find focal

length.

What is difference between concave and convex

lens?
Define Snell's law. Write its formula.

What is meant by refraction of light? Explain the

laws of refraction.

A ray of light from air is incident on a liquid surface at
an angle of incidence 35°. Calculate the angle of
refraction if the refractive index of the liquid is 1.25.
Also calculate the critical angle between the liquid air

interface.

4+5=9)

FEA ST B i) s ST B )

5'«9'24&6&14cm'¢v£//(f~(ﬂ/ﬁug
_Q/(}b”}éff} Y -9825.8cm5_3£//

(i)
Gv)

Q%)

L E k£ s S S

ol Fat ST s

(vid)

2 iz Jf” € 5t e
ol Juf,’l]i (J;"(/J ?4;_;!/ y/c uzg// qu
_=3
JéllK35o/)|981/€456/(3hVQG/J[;:/LM
a3 5125 a5 6 A S e (e S T

Z cj{U s b st ol él.ﬁﬂ[/(!"" J»{//JT

(a)3

(b)




MCQs Ans Key

Q:1 (B) Q:2 (D)
Q7 (A)

Q:3 (B)

Q:4 (C)

Q:5 (B)

Q:6 (C)



Test# 4 Physics Unit# 4

Time: 1 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) TS L oz s -1
1 The region of space surrounding the charge 'Q" in J’j JS L "q" U S5l s S L "Q"t A b 1
which it can exert a force on a charge 'q' is known as. - LUwQ_/

Electric conductivity &zf’.@(_f/zg, (B) Electric intensity U‘/M J/.G, (A)

Electric field ;i J/ﬁ, Electric resistivity  ,&-;, J/.G, (C)

2 If the capatiance of a capacitor is 10 " and potential . J,, 2 J‘/} Jx, 10 uFf u“’/u{/u//’ 2
difference is 2 volts then charge stored is. . T i Ci Vo
coulombs 20 x 108 '_.‘)/20 x 10~ 8 (C) coulombs 21 '_“)/21 (B) coulombs 20 _J[zo (A)

coulombs20 x 108 _Jy920 x 106 (D)
3 The value of constant K in coulomb's law depends e br g J/V;! FK &Kuﬁ AP J;U .Jf 3
upon:
Magnitude of charges , 5. ~ ., (B) Sizeofcharges 7. ~ - (, (A)
Distance Eetween charges [, &l/u L 7/; ()
Medium between charges (,w U £ 7 g (D)
4 How will be the electric lines of force where electric $u gd STF 0 S Jfﬁ, b 4
field is strongly?
From positive to negative ,5? - ,*/,; (B) Apart ,, (A)
close _ (D) From negative to posmve ,»/, - ,./C ©)
5 It blocks DC current but allows AC current to pass u—: J/ [_,/5 | JQ s Ljfu:’ [_,/u« $io 5
through the circuit. e b L/}f
Specific resistance UJ{‘//-/ u@;/ (C) Resistance U'.V:VJ/ (B) Capacitorb/:{ (A)
Thermometer}q/? (D)
6 Charge can be stored for a longer period of time on. < o b Ve 2 L=y i !’/C/lv 6
Capacnor/ (D) Capacitance Jv U/K (C) Conductor : // (B) Electroscope ,ﬁ /.O, (A)
7 If two capacitors C1 and C, are combined in parallel, Ssls Jw U Loz JJI/;-CZ 211 Cy /ﬁ‘{u 57
their equivalent capacitance is found by: - &l? Jr’l" u,g
Cq=C1xCr O) Cy=2d+4 © Cu=Cit+C B) Cy=Cr+4 *
2- Answer the following questions: (7x2=14) iz 2Lty S350 -2
(i) Define electric field intensity. Write its S| unit. j_,,; SI§ U {_JJ/ u(tj‘/”' piu J/U, )
(ii) Describe two properties of Electric Field Lines. _5 ZF uL,,.a? o Ay J/ﬂ, G
(iii) Define electric field lines and electric potential. _J/J/J JJW, J/@, sl F Y _f/ﬂ, (i)
(iv) What is unit of capacitance? Define. <J/~_d/ JJ, fe L,(_,, {J" b("'/ Giv)
(v)  Whatis Electrolyte? e e 2 V. C))
(vi) What is meant by Filter circuit? ' gg_‘,j/ /9’ (v
(vii) How many factors affected the ability of a capacitorto 27 J_(, 5, 50 5 4 el JL/»/;' L /"/vf (vii)
store charge? Write name. J,J E gy I
Note : Attempt the question in detail. (4+5=9) ey T J"” ¥ Jv S5t iad
3(a) Describe characteristics of series combination of 4):/09 Q‘L:;,i d/.d;,/’ Ve L iz [ﬁ;( ()3
capacitors.
(b) A capacitor holds 0.03 coulombs of charge when fully L/Zﬂlp T Jf//; e & L5/6V - [/J (b)

charged be a 6 volt battery. How much voltage would & lp 20 ., /./

e tow s ke §0.03C L U1 F b
be required for it to hold 2 coulombs of charge? & Vot L LU
L U Ko C"u éi LS




MCQs Ans Key

Q:1 (D) Q:2 (C)
Q:7 (B)

Q:3 (D)

Q:4 (D)

Q:5 (A)

Q:6 (D)



Test# 5 Physics Unit# 5
Time: 1Hour Class-10 Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) TS Lz s -1
1 Electrical potential and e.m.f: _e.m.f Jﬁ{, J/‘;Q, 1
are the different terms v 3 _i¥ (B) arethesameterms . ,, 3 o (i (A)
BothBand C C B s, (D) have different units ;i w,; Z o (©)

2 A current is sufficient to cause full scale deflection in NS Uf_,/i e u’& JfC J’ Sz M)
galvanometer.

Few kilo-amperes /,‘/::' £4 (C) Few mili-amperes //_:,:’ Jt # (B) Fewamperes /fm,v:, 2 A
Few mega-amperes /’{:{, @,w{ (D)
3 Wire which is earthed at the power station and is at vy Jf{,} sl e W U FA g J’f’ s S U7 kw3
zero potential is called. ) ’ o ) ’ -
Hot wire 7|, (// (D) Neutral wire 7, J:; (C) Livewire 7, 7 (B) Earthwire 7, 7, (A)
4 One kilowatt is equal to: e e 4
J36 (D) 3.6J°! (C) KI36 (B) MJI36 (A)

5 The time interval after which the voltage repeats its et < tes A A S ed s @-‘)” ST B V'KFV 5
value is known as. ‘ ‘

Time period%/7 (/’L‘ (C) Wavelength ﬂ;:ﬂj,;, (B) Frequency u/:,,{/ (A)
None of them 7 i, . o (D)

6 The graph between potential difference 'V' and KwoS s v A Jﬁ{, seS 6

current'l'is a. ’
Straight line J/U s (D) Ellipse ,#, (C) Curve;, (B) Circle J{/ (A)

7 When resistances are connected in series the current ., - /"y, ZLe ST o W R Uy s :’/u"/u - 7

passing through them is.
None " i, (D) Same , (C) Zero 3 (B) Different iz (A)
2- Answer the following questions: (7x2=14) 2 iz L ety f5 00 -2

(i) A current of 3 mA is flowing through a wire for 1 G U S —e = 3mA Sool e ..f @
minute. What is the charge flowing through the wire? e | /( Eo

. // >
) 2 o

@ Provethat: P = ‘% P = VTIJ“/:,,L‘ @i

(iii) Define Electric Power and its Unit. <u:‘f‘i - Sey Z gt om S0 Gid)

(iv) What do you mean by Ohmic and Non-Ohmic S s e J,‘{)L'J/.,Cui bl das (V)
conductors? ‘

(v) Define Potential Difference and write the name of <&f,'b K iy 5.41/? $ A ﬁ‘)’ o)
Unit. - T :

(vi)  Iftwo resistors of 6 k€2 and 4 k{2 are connectedbya o, - 7. £ ¢z S10V 20 £ 4 kL 6 QLT (v
bet.tery of 10 v in series then what will be equivalent ‘.’Jn L/J;b,-/,/ Gsr T 2L i2 U
resistance? :

(vii)  Discuss the main features of parallel combination of ~ _ » /" i, o (o0 A JJ/‘AJ/ Lo e Ry J,ﬁ (vid)
resistors. 0T )

Note : Attempt the question in detail. 4+5=9) 2 iz &f" € S5 ew e
3(a)  How we can differentiate between electromotive force /" .50 o iesy £ A 35 L}‘?«:‘}; U ;,.,/»Q, 7 @3
and potential difference? N ’ ¢ :é
(b)  Iftwo resistors of 6 k€2 and 4 k(2 are connected in v A LSS0V 0 LARQ6 kLT (b)

series across a 10V battery, then find the following . L. -
17y e @ g e s S PR -
quantities: (a) Equivalent resistance of the series J/ LA < ( e J:) sl Lz o

combination (b) The current flowing through each of 7 (© 2/ v S e UG

the resistance (c) Potential difference across each of JEI J”f}j AL u’;'/}/
the resistance.




MCQs Ans Key

Q:1 (A) Q:2 (B)
Q:7 (C)

Q:3 (C)

Q4 (A)

Q:5 (C)

Q:6 (D)



Test# 6 Physics Unit# 6

Time: 1 Hour Class-10t" Dated: / /

Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) -ufq/’w/ PANT JCPN |

i)
(ii)

(iii)

(iv)
(v)
(vi)

(vii)

The presence of a magnetic field can be detected by
a:

Lo (o= ¥ Sar § 1 GE

Stationary positive charge ¢ , 5y JL (B) Smallmass . | J_,# (A)
Magnetic compass __ |13 L (D) Stétionary negative charge __ ¢, , ;:é d—@ C)

In the case of a bar magnet, the magnetic lines of
force end at.

G P T E Y G e 2

The middle __ (.,, (C) Southpole . Jy #4 (B) Northpole .y 7, (A)

Michael Faraday discovered the phenomenon of
electromagnetic induction in.

The coil across which we applid a voltage is called.

Any point __ *""“/"J uﬂ‘ Lf( (D)
Ve S Pl Wil g K

(D) 1901 (C) 1860 (B) 1931 (A)

-LLL"MJ/I}KMUJ"QJ@?»ﬂ}(u)'d'/l/u“i

1831

Voltage coil éy” (C) Primary coil f/ s 7, (B) Secondary coil S s (A

The change of current in a coil produces an induced
e.m.f across the same caoil, this phenomenon is
called.

Battery coil ), 5 (D)
U:J/u(df;,?; d/a_ndji b"f/ru.fd'/l/vg/ﬁ
Y- TE PR ST NS

Electrostatic _gz, 2 (C) Mutual induction % f,~ (B) Selfinduction . L (A)

Transformer is used for.

Electromagnetism r}{/,;g, (D)
—e b Y o)

Increase resistance J ;.5 ' 7, (B) Increase voltage J ~ ; (. @v,, (A)

When number of turns in primary coil is grater than
secondary coll, this transformer is called ___.

None  {, (D) BothAandB ,,,B 4 A (C)

Frws e WGk i § 50 S S Ay e
- :é//lé»']l/"_ =

up and down 55 % - (D) Stepup - %’; (C) Step down 15 ?{'p (B) Step up o ?{b (A)

2- Answer the following questions:

State right hand rule.

Describe Faraday's law about electromagnetic
induction.

Give two uses of electromagnetism in science and
technology.

Define Electromagnetic Induction.

Define strength of magnetic field.
Write the names of two factors which effect on
induced e.m.f.

What is Transformer and on what principle of
transformer work?

Note : Attempt the question in detail.

3(a)

What is meant by transformer? Expalin the working
principle of transformer.

A step-up transformer has a turn ratios of 1:100. An
alternating supply of 20V is connected across the
primary coil. What is the secondary voltage?

(7x2=14)
-5 e U6 AL S
S U K L P sl

<uf.¢ﬁ Ue Gl u:'/L/ e ey ()"{:f"/)/"g'

S S P sl

G ek S G

L7 0 e Lis Lt i 1 I L) Ly
<

?‘av//r({, Il J{d S N}

4+5=9) 2 I Jﬁ-‘” § i 5t

= V/(K:j L Js ‘/d S iy .@-’/L//Wi/k
,u:/c)(.-'n

S -« 1:100 = Susk o ot o o
JibwiaAe Lumw s ot 20V 6 Ay
S (V)G s Sk

1

.é:«l’,lﬁ L ey Ssen-2

@
(i)

(ii1)
Gv)
W)
i)
(vii)
2
(a)3

(b)




MCQs Ans Key

Q:1 (D) Q:2 (B)
Q:7 (B)

Q:3 (D)

Q:4 (B)

Q:5 (A)

Q:6 (C)



Test# 7 Physics Unit# 7
Time: 1 Hour Class-10t Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) -ufq/’w/ PANT JCPN |
1 AND gate can be formed by using two gates. &Cﬂ Fb = Je1 2 u)f.f” e 23T 5F G|
-
NAND gates /. (D) NORgates s+ . (C) ORgates * ; (B) NOTgates .. (A) ‘
2 Which gate is used in making burglar alarm? e b Jder oS o U o1 )2 2
NOT gate JNOT (C) AND gate JAND (B) OR gate ;ZOR (A)
NAND gate .‘vaAND (D)

3 A system which deals with quantities or variables 02 T sl JJ’("" 4 kel Sps sl Ushier 7 ’}/ 3
which have only two discrete values of states is - el crr u’wla 0/65 &
called.

Digital system K‘——/ 5 (C) Logic gates J/_J;,J (B) Automatic system (/ yT (A)
Boolean expression u.!/,f, U’J!’ (D)
4 Special algebra used in digital system is called. < L“U/i/.‘{’! J{.’,U,, v JE f// 4
Complex algebra ,/,%, J{?,,J (B) De-Morgan's algebra ,/..{',Ji,, $i (A)
Boolean algebra ,/,%, uf’!. (D) Simple algebra ,[é, g (©)

5 Which one is not the basic operation of Boolan e 0 FLT S U Ut kS SR 5
variables?

NOR operation u‘é’.{.‘,’ A& (C) OR operation u"a{“,' ,7 (B) AND operation UJ":./?‘{ s (A)
Not operation u#‘..J e (D)
6 The number of basic operations upon which digital < JJI’"” Y, )’247 Sl { f,;g. 6
electornics is based.
6 (D) 5 (C) 4 (B) 3 (A
7 If X =A.B, then X = 1 when. Sl 1USXIX=ABS 7
A=1,B=0 (D) A=0,B=0 (C) A=0,B=1 (B) A=1,B=1 (A)
2- Answer the following questions: (7x2=14) ez L ey 5t 2

(i) Draw symbol for NOR gate and write its truth table. _J:J J«:” £ €U /& el d/;&fﬂ )

(i) What is meant by inverter? fe sy Ve 29 G

(iii) What do you mean by digital circuit? Ut b l/ub/‘ ‘g S J»i, _,, (iid)

(iv) Define digital electronics. _“&‘r__y/ J‘/(,/Q, (iv)

(v)  Write truth table of AND gate. et K 5 E{_‘;fAND W)

(vi)  How many inputs and outputs of AND gate? i AedT AU Lol (i)

(vii)  NAND gate is the reciprocal of AND gate. Discuss. ﬂdj_/,u, o € o oo (vid)

Note : Attempt the question in detail. (4+5=9) iz U dstn i

3(a) Whatis OR-Gate? Draw its symbolic diagram and we Jr: ol I"/ g ‘f, ‘e Vel @3

truth table.




MCQs Ans Key

Q:1 (C) Q:2 (D)
Q:7 (A)

Q:3 (C)

Q:4 (D)

Q:5 (C)

Q:6 (A)



Test# 8 Physics Unit# 8

Time: 1 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) -ufq/’w/ PANT JCPN |
1 Information technology is. < e ‘ff/w'l 1
Changing constantly o Gun J:); Jv"f‘ (B) Changing slowly o Gun J:); o T A
Changing speedily < G Jx = §7 = (D) Notchanging < $un o S (©)
2 Latest form of the telephone is the. < ‘){/“ [ A Ju} Ulf 2
Video-phone j ,2, (C) Head-phone . 1, (B) Gramo-phone i) (A)
None of the above " {, . # . (D)
3 The scientific method of storing, arraning information sl s :L/Zf’ [‘ﬁ"/u;; 2 ,{;@') ‘5:’/[, w3
it;rnzzjotphe;-use and to communicate them to others is - L"ML&;I’? /;/»L St JW1 U Py
Television s Ulf (C) Computer ;,.,f (B) E-mail f_¢ (A)
Telecommunication . ,,ful/ (D)
4 In computer terminology the term machinery refers to: < JJ# Kd/-f 5 Gt 4
Procedure Sy (D) Data L3 (C) Hardware - I (B) Software s L (A)
5 With broadband information can be loaded. - @C b d/j,J Ui el = b, S
In2days  j,,, () Intday g, ¢ (C) Intsec gic (i (B) Intmin s ... gj (A)
6 In the remote control device- AU et 6
Sound waves are used &ﬂ Je s Kol (A)
Infra-red waves are used ur &n Je1 2 ;t/,/w‘, (B)
None of them 7 i, . # .y (D) Microwaves are used . i, Je1525 I (®)
7 In big departmental stores, in order to read bar J /Jlﬁ/i (L é s &4 /,g e Jf’:‘l"/kj <y 7
codes, we use:
Optical lenses 2/ 7 (C) Data management . -2 £ (B) Optical scanners Jﬁ.c ST (A)
Camera /f (D)
2- Answer the following questions: (7x2=14) 2 ez 2L ey S5 -2
(i) What is the relation between information technology S qu‘” ¢ gw“c,f& ol G u/",w €))
and telecommunication?
(i)  Define optical fibre. JS S A T GD
(iii) Why the range of electrical signals decreases in fur Llow [u,[}‘f Jé;?, os Uk (i)
wires?
(iv) Write the two uses of electronic mail. _gdb&"‘l Ll S .ﬁ}gu Gv)
(v) Enlist some uses of internet. S S e £ e A (V)
(vi)  What is E-learning? fe B G (VD
(viiy  What is E-commerce? e VU (vid)
Note : Attempt the question in detail. (4+5=9) ey T J‘j v 35w iad
3(a) Describe any three components of (CBIS) computer _EE u»"':f,j/u: P r” SN St /,5,‘/ ()3

based information system.




MCQs Ans Key

Q:1 (D) Q:2 (C)
Q:7 (A)

Q:3 (D)

Q:4 (B)

Q:5 (B)

Q:6 (B)



Test# 9 Physics Unit# 9
Time: 1 Hour Class-10t Dated: / /
Student Name Roll No - - Marks: 30
1. Circle the correct answer. (7x1=7) -ufq/’w/ PANT JCPN |
1 Particles in the nucleus of an atom are: b L s ufvf,; L (‘;:, 1
Protons ., . (B) Protons and electrons 23 A0 Sdry (A)
Electrons and neutrons -, ;. ,, 7,;9, (D) Protons and Neutrons -, ;s 4, (C)
2 Which among the following Radiations, has more b duminm L2 ES S e A Sien 2
Penetrating power? ‘ T )
Alpha Particle £, 3y (C) Gamma Particle £, -~ (B) Beta Particle £, ¢, (A)
All have the same penetrating Ability __. gﬂ $F L wolle 2 (S d’(g (D)
3 Alpha particles are similar to. w0 E w3
Neutrons - 2,- (C) Protons ., . (B) Neutron nucleus uﬁ‘b/_,, iy (A)
Helium nucleus A ,; ﬁj“/‘ (D)
4 Charge on alpha particles is twice the charge of. et U Z ol £ Ll £ £ 4
Proton sy (D) Heliumf“{ﬁ (C) Electron u,/.g, (B) Neutron u'/;z' (A)
5 The speed of 3-particles ranges from. e B S S A 5
1.4 x 10'm/sto 1.7 x 10* (B) 1.7 x 10*m/s to 1.4 x 10*> (A)
1.7 x 10"m/s to 1.4 x 107 (D) 1.7 x 10"m/s to 1.7 x 10* (C)
6 If a S-particle is emitted from an atom its atomic Ky LUE ST J{/‘/L_ﬂ - u/f, 6
number. )
Increaed by two ¢ ; (, ,+,, (B) Increasedbyoney; |, ,: _(i (A)
Remains the same ¢ ;7 ,,; f,» (D) Decreasedbyoney; |, , ﬂ/.ﬂ (C)
7 The half life of a certain isotope is 1 day. Whatisthe =~ ;7 .,y e sy L1 W i Soi A TUrs i 7
quantity of the isotope? ‘ ) "Lf/ b;f l,&': d/ 5T U /;J
: T J - .
None # 1, (D) Oneeigth L (C) One quarter i B) One half { ; er A
o7 4y (D) gth 2 (C) quarter 3z () (B) Ju:mfn()
2- Answer the following questions: (7x2=14) oz L ey 5802
(1) Find the number of protons and neutrons in nuclide =, * r _o qu//:w = é?)X;’/'Ui Sy 0@
: 13 ’ e Lo
defined by ¢° X -,,é (’l,, W Jf};f
(ii) Define strong force? NSy N £ o G
(i) ~ What is difference between artificial radio activity and S 35U U S i, J A 52 ya J&a’ é/,’ Gid
natural radio activity? ‘ ) T )
(iv) Explain gemma rays with the help of examples. _Jjg,, = 4 d/u)r}. Lo Gy)
(v) Define radio isotopes also give example. i Je g S SR T (W
(vi)  Draw a diagram of fission reaction in 235U S P F s S A 3%5U (vi)
(viiy  Write half life of plutonium iodine and cobalt. o Sy 8 S et (9% (viD)
Note : Attempt the question in detail. 4+5=9) 2 iz Jﬁ“’ € J3ew s
3(a)  Aradioactive element has a half life of 40 minutes. oy _,,J;,/géu;‘, R =l JM, ,:‘:Q J4 ()3
Tt.1e.|nt|al count rate was 1000 per mlnu.te. How long ga’./d"b o &%Jj:‘ R d 22461000
will it take for the count rate to drop: (i) 250 count ~ s A p .
per minute (i) 250 count per minute e § 2125 e § K250 T s 25
(b)  Aradioactive element has a half life of 40 minutes. &;’KJL&.I e e 40 FY JM, e, 0 (b)

The initial count rate was 1000 per minute. How long J"la 'SKJ’;‘ e e d 46 1000
b b o> - b 2 b b
will it take for the count rate to drop to (a) 250 per RSOl ¢ = =

minutes (b) 125 per minutes (c) Plot a graph of the (b)‘b/f} <6250 ()€ sk 255 Wé LS
radioactive decay of the element. Uk oS KC{}?{! ook (0) wor 3 w46 125




MCQs Ans Key

Q:1 (C) Q:2 (B)
Q:7 (B)

Q:3 (D)

Q:4 (D)

Q:5 (D)

Q:6 (A)



Test# 10 Physics Unit # 1,2,3,4,5 (1st Half)
Time: 2 Hour Class-10th Dated: / /
Student Name Roll No - - Marks: 60
1. Circle the correct answer. (12x1=12) Lo S Lz enl
1 If length of Simple pendulum of Earth is 1 m then its ey KIU’ KUt i w42 du JH,;’{ Lot 1
time period is: T oo
sec 1.88 (D) sec1.89 (C) sec2.11 (B) sec1.99 (A)
2 The time period of vibrating mass spring system, LS SV Ul s Py (/U’ K LUl 2sn 2
when its mass become doubled: ) ’ ) ‘b
Increased ¢ ; |, ,+ (C) Becomehalfy, (, , (,,7 (B) Remainsamey . . _(7 (A)
Decreased ¢ ;_|, ,; [ (D)
3 Time period is inverse of. e g fllv 3
Time rﬁv (D) Wavelength ﬁ;ﬂj v, (C) Frequency u/:,{/ (B) Velocity U"/U} (A)
4 If the speed of a wave is 340ms ' and wavelength 1 7 » 0.5m 52 4s s » 340 ms xS0 4
is 0.5 m, then frequency will be: J}, U”'}"// d/
Hz 680 (D) Hz3400 (C) Hz340 (B) Hz170 (A)
5 If intensity of a sound is 10 times the intensity of T U/' 2L 010 us/“' J xi fﬂ" e eSS
faintest audible sound, then such sound is taken as. ¢ v 5l L
B1 (D) B10 (C) dB20 (B) dB10 (A)
6 In search lights to throw an intense beam of light at a S L 25wy _,',’r; Ll e, 6
large distance, we use. N * " o
Convex mirror , . 2 (B) Concave mirror , . A
Both concave and convex mirrors ;, , Jf;//,, rﬁui» ©)
None of the above U:‘/ é/c o o (D)
7 If a ray of light in glass is incident on an air surface at ja;f LA U e i/ Jln < d/(fu =n Jlf//(i 7
Ezzangle greater than the critical angle, the ray will ‘Jﬁ Ity e J@' L}?‘Jﬁl M?' d/
Reflectonly . s, 5~ (B) Refractonly &gﬁ e (A)
Diffract only . '3 5 _5 » (D) Partially refract and reflect . s, £,y o.£ 3, 4 (C)
8 A strong field lies in Farady cage: o bw WP L CK;;I/-’ 8
Geometric J/‘{}g (D) Magnetic _g:£» (C) Electric J/.G, (B) Grawtahonal J/‘ Lf!’/ (A)
9 It blocks DC current but allows AC current to pass _j/ S oS5 JQ (s 4—//&:/ [__,/u— S5 9
through the circuit. o b L//
Specific resistance ‘f./ .,C»'/ (C) Resistance J{“U (B) Capamtor/(A)
Thermometer/,:L/ (D)
10 In parallel combination of capacitors, each capacitor _¢,, ,/, gk{/ﬁ. Jibiine &) JJ% ///",‘;:K 10
will have same: ) ' )
Capacitance Jv U/J/ (C) Charge C/b (B) Voltage 6‘}” (A)
Charge and capacitance Jv b(;:f/ﬁ, L (D)
11 The device used to store the charge is called. e bl e Je L LS /Z;b 2J7w 11
Capacitor/m,/ (D) Insulator/u,;’, (C) Conductor/f/@/ (B) Metal‘f*.(A)
12 If a battery of 10 volt is connected across a resistance Wk L Jf'/u Jﬂ' 10 S § % JJulO Jf, 12

of 10 ohm. The current flowing through that
resistance is:

_Lbf/rﬂbé.//f:.u”‘,f‘:wu)’gla
mA 1000 (D) mA 100 (C) mA10 (B) mA1 (A)




Test# 10 Physics Unit # 1,2,3,4,5 (1st Half)
Time: 2 Hour Class-10t Dated: / /
Student Name Roll No - - Marks: 60
(Part-1 - Jsf )
2- Answer any 5 short questions. (5x2=10) ez 2L ety 5 352
(i) If the length of simple pendulum is doubled. What will (/" 4 - (L" Z il S0 du J#,M w1 @
be the change in its time period? *‘d/f Vs ULM
(ii) Define "Bel". _J/J/J J“J” G
(ii)  Which property of sound wave determin its loudness? ‘e d/w” ¥ 50 eer® 5 of §xil Gil)
(iv) Write the focus of convex and concave mirror. de U/!’ K., ,O//,, Jr/ Gv)
(v) A current of 3 mA is flowing through a wire for 1 L.;fw s —e by = 3mA Soerlae i V)
minute. What is the charge flowing through the wire? ‘ Py /( 3 b
J. J
(vi) If emf of a battery is 2V, then find energy supplied by A J/ i Ty ..J/.f! 32V ‘—‘”LV/' S Jd/ /, i)
battery, when one coulomb of charge flows through e AS
f I y
the close circuit. = &k UIIJ/ Sz = LJ/ =
(vi)  How we measure e.m.f of a battery? Ut J‘/JJK $ i Ayl SuF (vid
(vii)  What is meant by equivalent resistance of series S oy e J‘J”J} Soln d/‘i/(/ vz (viid)
circuit? L
3- Answer any 5 short questions. (5x2=10) oz 2L ey 5§33
() How can you prove the mechanical nature of sound é/./v d/‘,_ F ol A V, g J(:‘:{u(,"u’t/ @
by a simple experiment?
(ii) Write the principle of stethoscope. _Jf’a J,a, gu,(/ jv:"/ (iD)
(i) ~ What is meant by auidible frequency range? Se o e s IR INE 'yk, J& Gid
(iv) What is the refractive index of Water and Ice? e L,(J@C, ;{// K&L o Gv)
(v) Define plano-convex lens with diagram. NI J‘)/; J/'I Jﬂ ‘fg,f,&” W)
(vi) Define and write lens formula. g S Surk A i)
(viiy  Provethat: P = I’R P=1 R-u‘/’/ut‘ (vid)
(viii) A bird can sit harmelessly on high tension wire but it < (L4 &b 6‘/” Ny viyg LI (viii)
must not reach and grab neighboring wire. Do you é
WL El T cbod O 06 e
know why? SR N 4V 4 /’Lf./édo
fe ud
4- Write short answers to any (5x2=10) iz 2L ey 5 34
5 questions:
() What is te audible frequency range for human ear? S 0 e d/,‘CEL/ e b L L ug&u; ')
Does this range vary with age of people? ) U Jy J,«}' e s L
(i) A man raises his left hand in a plane mirror. The L, UO = T ol £y UEL b &L Z ., J}. ST G
:Ir\::]a;g’;?e facing him is raising his right hand. Explain - u}[k" u:/b)w - Gb?fm’k oUis g' JJ‘ o
e
(iii) A ray of light enters from air into glass surface. The J@, e 3ﬁ Jﬁ,} yps i’ d/u'lfc Iyt Jéﬁ,/ (iid)
angle of incidence is 30° and angle of refraction is ¢ rf7 ‘ o 205 o~ €& 0 4, 5 e
45 19.3° o= T Ay ) 3
19.3°, then find refractive index of glass. v 19.3 uj// Bl & e 30% U J
gL e T 2,
(iv)  Provethatv = fA v=fAZ =k (V)
(v) If 100 waves pass through a paint of a mediumin 20 7 ., 3,7 # +C 20 o oy, L L a5y 100 S W
seconds, what is the frequency of a wave? ‘U/V MU,,}(/ d/h Ui
(vi) Why in conductors charge is transferred by free ) J;,/b?, T e & 2 29 bl U2 /’/)’)/j;( i
electrons rather than by positive charges? ) (,; Lr. Jﬁiuf/d‘
(vii) Define electric field intensity. Write its Sl unit.




Loy SIvu £ o F S 8 b

(viii)  What are the limitations on the Ohm's Law? o J,f!/:' ol uls Z A (viii)
(Part-II - (2 ~)
Note : Attempt any TWO questions. Ox2=18) 2 eyz L ety D ne e
5. How can you define the term wave motion? Also sl ey S 2 S L/d/bﬂ/? SFr oo T ()5
(a) elaborate the dlﬁergnce betwgen mgchamcal waves Y Juﬂl‘/ Usiy eolos JJ} &v/; Z i V@?};g'
and electromagnetic waves with suitable examples. ° "
e
(b)  An object 30 cm tall is located 10.5 cm from a 154 6 £ 10.5ecm = o 5 7 930.0em oL (b)
concave mirror with focal length 16 cm. (a) Where is VJ‘_ ubv(éfl (@) 7 » 16.0cm l;@ J{}; d// /(’ ;
the image located? (b) How high is it? R ) P s
ENNTIREAC)!
6.  Explain Parallel combination of capacitor. g el Sir e L (@6
(a) )
(b) Two resistances of 2 k{2 and 8 k€2 are joined in S § 6z e 3t e S8 EQ2EQ  (b)
series, if a 10 V battery is connected across the ends J:’ e T b éé § J 10V _J;/u Zia U
~ o A4
of this combination, find the following quantities: (a) o N < . ~
The equivalent resistance of the series combination ) o d’l”tbd/ iz (@) & f”l’/ = d/gul,w
(b) Current passing through each of the resistances. SIA L 0 (0) NSYAT & UL el
(c) The potential difference across each resistance. uft/j Jf‘ihy
7. What is intensity level of sound? Write the name of its _ﬂ UKy LU e Jo u"-/":""‘, Sz @7
(@)  unit. L
(b) An object and its image in a concave mirror are the Sea &1 £ f) e y,20.0cm e ., S0 b)

same height, yet inverted, when the object is 20 cm ‘/;‘@ : Mo st £ 1,
U - (G F e gy & den § 7
from the mirror. What is the focal length of the mirror? ~ f J// o UJ C Il d"’ {5:
‘ox



MCQs Ans Key

Q1 (A) Q:2 (C) Q:3 (B) Q:4 (D) Q:5 (A) Q:6 (C)
Q:7 (B) Q:8 (B) Q:9 (A) Q:10 (A) Q:11 (D) Q:12 (D)




Test# 11 Physics Unit # 6,7,8,9 (2nd Half)
Time: 2 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 60
1. Circle the correct answer. (12x1=12) Lo S Lz enl
1 Which thing works on the principle of electromagnetic e u"'fx, u@? ,/*Q, VAV PN J;Q, Iy Uf’[ 1
induction in hydro electric power house? ‘e &/({4 Jﬂl
Voltic Cell k- _g,, (D) Galvanic Cell t- _ﬂ,{..f (C) Generator A (B) Motor ;,. (A)
2 If a coil is placed far away from a magnet, the lines of 3 57 <"y o * 117 sy ot J”,/&:Q Ji 2
force pass through coil will be. _Jg/}(
Very large ) et (D) Afew D{ (C) Maximum Dl e o) (B) Zero/'w (A)
3 The part of the electronics which provides the datain o~ g J[J, {/,, ol e o S LS 2 o ¢S5 3
.the form of a maximum and minimum voltage signals, - L“Uvi/a L"/J;i 5 /L,é @‘1’”
is knows as. ‘ ‘
Digital electronics f,;.g, %s (B) Electrical electronics f,;@, Lﬁ/ﬁ{J, (A)
All of them l'l'? - (D) Analogue electronics f,/»g, JJJQI (©)
4 The electronic systems used at present consist of. < JJ’"’ (”f/ f,;g, g‘fa,’ 4
Both of them ./, (C) Digital circuits{.‘ff/ l%; (B) Analogue circuitséuﬁf/ S A
None of them 7 i/ . # . (D)
5 Which of the following is not processing? fe u—:/ __,@,4 Jf us 5
Calculating /(" _(> (C) Manipulating ;s ;> (B) Arranging(,_-> (A)
3 Gathering L/'/laffi (D)
6 Latest telecommunication devices are. it Ay o ~,3/Jf g a6
Too costly to purchase Jf/ sl e (B) Verysimple . .. (A)
Very dangerou;to use ‘_,/L/p ex S S Jer (C)
Much better and more efficient .. . , ol et sl sl et (D)
7 E-mail is the abbreviation of: -< N S
Urgent mail " .- (C) electronic mail 4 J,/:Q, (B) emergency mail K J’?ﬁ, (A)
None u::’ é[ (D)
8 With broadband information can be loaded. - G’C b J;,J i el = b, 8
In2days = ,J,,, (D) In1 day wu"(, (C) In1 SeC L ..{l B) In1 min ;/b{l (A)
9 In the remote control device- A e s 9
Sound waves are used Jﬂ Je1 s sl (A)
Infra-red waves are used Jﬂ Je51 s ;tj,/w’, (B)
None of them s i, # s (D) Microwaves are used i ,; Ji-13y5 » £ (C)
10 Particles in the nucleus of an atom are: Y, AN o uf‘ig,: Z ’f":.; 10
Protons ag (B) Protons and electrons ;,;g, l 7';,4 (A)
Electrons and neutrons -, ,» 7-,;?, (D) Protons and Neutrons -, ;.0 ;;,4 C)
11 Charge on alpha particles is twice the charge of. by oy 2 C L— L 4 £ 48 11
Proton Sy (D) Helium ﬁy (C) Electron u,;.g, (B) Neutron 24 (A)
12 Alpha particles can produce fluorescence in. Y 2’:/:/14/7 S b )@4&)1 12

Zinc sulphide :7;;(. _¢; (D) Vacuum T (C) Barium F:/" (B) Air A (A)




Test# 11 Physics Unit # 6,7,8,9 (2nd Half)
Time: 2 Hour Class-10t Dated: / /
Student Name Roll No - - Marks: 60
Part-1 - Jst )
2- Answer any 5 short questions. (5x2=10) 2 apiz Z L ey 5 32
(i) Define electromagnet. _”&(_ﬁ,jf J&Q,;Q, €))
(i) What is meant by Logic Operation? Write its two <¥(L' z ru’, " JJ, S izﬁﬂ’ &y GD
kinds.
(iii) What is meant by binary variable? S sy L/c; Jq S d)i/& (jii)
(iv) What is NAND gate? Write its truth table. ne Jr: FiIE U S sl Ve e ()
(v) For what purpose browsers are used? cur 2T rg ‘fj//‘ﬂ{ )
(vi) What is differece between step-up and step-down fe AL A s %{b P .{f’; i)
transformer?
(vii)  What was the Ruther for theory about atom? RSy S VT Y L}l’"/‘ & (vid
(vii)  What is difference between artificial radio activity and fe G4 U 1 Ty Jé Il (525 Ty Jv‘i’ AT (viid)
natural radio activity?
3- Answer any 5 short questions. (5x2=10) ey L ey 5 33
(i) Describe the direction of an induced e.m.fin a circuit? ¢ J’/J» - % J,/uy. - J&/}g;‘ﬂ AN
How does this phenomenon relate to conservation of fo b £ Ul £ i £ ﬁ)/fi G
energy? ;
(i) Define operating system and give example. - JE sl u:/vy/? J("I/ ..‘@’/,:T G
(iii) State right hand rule. -él"/ ok Jr1 6 S| u:’,, (i
(iv) Write the truth table of OR gate and also draw their 'w’& I,,f Uit Jf: Yy J_b,f/,’ Gv)
circuit diagram.
(v) What is meant by A.T.M? S sy .l.f'/C’- ATM &)
(vi) How can the scientist estimate died tree age by C- s g 401,;, ¥ £ Jup’/, 0, e -14g K JiF - (Vi)
147?
(vil)  Write the Sl unit of radioactivity and which units are  Jus 1,0 ol S S u—gj ey 8T 6 (2 as (vid)
comonly used for radioactivity? St
(viii) I%rél\;vr;at way atom in %4N is different from the atom e G .L:(J-f %6N ol %4N i’&’?{)j z At (viid)
4- Write short answers to any (5x2=10) ez 2L ety 5 (-4

5 questions:

i) What are the factors which affect the magnitude of gy & (1 iy 21 1y Lot 14y U2 &5 £ UE/"’“ S el @D
the e.m.f induced in a circuit by a changing magnetic Uy < Ji/ J/JW;I K Lo J
field? ’
(i) What is light depending resistors (LDR)? 013 &J’;/b;, _sz,”.:j’ << G
(i)  What is E-commerce? fe VU g Gib
(iv) What is NOT gate? Draw its symbol. _u:/b' J/ ' ?? Py QJ/C. wa Gv)
(v) Enlist some uses of internet. S et £ e A (V)
(vi) Define Atomic Number and Mass Number. _Jf’i b,y/'f J/ Jb sl / L (v
(vii)  Write a role of radio isotopes in medical treatment. _uf‘v Jss 6 s A7 o Sty ‘ﬁ.j&/ (vii)
(viii)  Draw a diagram of fission reaction in 25° U. JuF Jﬁj S8 S A §§5U (viii)
(Part-II - 55 )
Note : Attempt any TWO questions. (9x2=18) M aniz & ety e 3 s
5. Aradioactive element has a half life of 40 minutes. S bu,’{&w,l - 2240 I g eoaly 1 24 (@5

(@)  The intial count rate was 1000 per minute. How long gL/'/Jlla » »';’KJ;' i e u‘/d . 5€1000
- = o ~-< -
e B 125w § eoi8250 6 K s Y




(b)

(a)
(b)

will it take for the count rate to drop: (i) 250 count
per minute (i) 250 count per minute

A step-up transformer has a turns ratio of 100:1. An
ac voltage of amplitude 170V is applied to the
primary. If the current in the primary is 1.0 mA, what

is the current in the secondary?

Define NAND gate and draw symbol and truth table of

NAND gate.

The half-life of 1V is 7.3 s. A sample of this nuclide
of nitrogen is observed for 29.2 s. Calculate the
fraction of the original radioactive isotope remaining
after this time.

What is meant by transformer? Expalin the working
principle of transformer.

Carbon-14 has a half-life of 5730 years. How long will
it take for the quantity of carbon-14 in a sample to
drop to one-eighth of the initial quantity?
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MCQs Ans Key

Q:1(B) Q:2 (C) Q:3 (B) Q:4 (C) Q:5 (D) Q:6 (D)
Q:7 (B) Q:8 (B) Q:9 (B) Q:10 (C) Q:11 (D) Q:12 (D)




Test# 12 Physics Unit # Full Book Test
Time: 2:30 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 60
1. Circle the correct answer. (12x1=12) LS Lz end
1 The example of shock absorber of the vehicles are: < Jé J/./"/.’ Je L Uk 1
Damped motion cf}” pPe] (C) Vibratory motion tj, Sl (B) SHM Cj, J’”/lz J;’ (A)
Motion u?,,.//{d (D)
2 Radio waves are: s dhs 2
Transverse waves ;,, r,,Ji; (B) Longitudinal waves ;,, J;,f:@ (A)
All rl; (D) Electromagnetic waves s v@g,;g, (C)
3 Two consective waves compression and rarefactions _ ’:J,J/,Ms s LP‘?/:’/ sl /:1/:{5 i D15 3
is called:
Wave length p;,fj Iz (C) Frequency Ugg/ (B) Time period Py r"v, (A)
Focal length m’;ﬁj Jf} (D)
4 A sound appears louder to a person with. < &n o7 ko éJ_ z f Lf( 4
Defective ears 4 L s s (B) Sensitiveears J ¢ s> (A)
Small ears é L u;gL,‘g (D) Large ears é Z Uy ©)
5 The reciprocal of the focal length of a lens is called et kA FEAS s
its. .
Magnification Lﬁéd? (D) Optical center/r.: J@;f (C) Power s (B) Aperture 24 (A)
6 The speed of light in water is: e e §EL AN 6
20x10%ms (0) 3.3x10ms™! (C) 2.3x10°ms™' (B) 3.0x10°ms™' (A)
7 Volt is the unit of. ey Iy T
Capacitance u""/b O/,:d/ (D) Current ,: s (C) Potential difference - 3 ‘}‘33:‘{; (B) Power :3k (A")
8 The specific resistance of tungsten is. .'9 uﬁf/)/ M d’d"vé 8
5.256(dm (D) 2.75Qm (C) 1.690Qm (B) 1.62Qm (A)
9 The direction of current changed in the coil of the d.c. - 3}7 Ju e J&/uﬁ J’,/L 569
motor due to.
Battery Ry (D) Spindle d;{ (C) Carbon brushes /"/ i (B) Splitrings . )?/ o (A)
10 Radio was invented by Ul v, 10
Newton ;_ .7,» (D) Einstein ;_ .7 77 (C) Marconi; (1, (B) GrahamBell ;_ f: (7,/% (A) o
11 Which one is radioactive element? e iy s U Ut e 11
All of these f& - (D) Radium Fj&/ (C) Plutonium (‘:‘,g. (B) Uranium f“%/z (A)
12 Gamma rays move with speed of. il S e e e S w12

Light *,, (D) Proton ., , (C) Neutron .;:,: (B) Sound x,. (A)




Test# 12 Physics Unit# Full Book Test
Time: 2:30 Hour Class-10t" Dated: / /
Student Name Roll No - - Marks: 60
(Part-1 - Jsi )
2- Answer any 5 short questions. (5x2=10) ez 2L ety 5 352
(i) Find the time period and frequency of a simple ‘J/I"LV UH[/ ey (’L" {H”" b O du 22 @D
pendulum 2.0m long at a location where — 9.8ms 2
g=9.8ms2 )
(if) Does increasing the frequency of a wave also I e Fy E A gy UH,{/ S G
increase its wavelength? If not, how are these N ‘ ¢ " .
Y Ly . 2! 4*
quantities related? % J‘/u‘ & s
(iii) If mass of simple pendulum become two times then /"4 - r’fv gH,;& S b S Ul K/!ﬁ‘a sl (f(/f' (iiD)
its time will be? i ' o ' "
(iv)  What effect has the amplitude of a vibrating body A S =P (2 &4 Gv)
upon loudness?
(v) What is meant by soundless whistle? Se sl GEmTe (V)
(vi) Why ultrasound is useful in medical field? S i o L u,v“’/,"dwﬁi i ‘ﬁ.jw i
(vii)  What is meant by resolving power? Sy Ve sl Loy, (vid
(vii)  Write down two characteristics of compounds 2 F e § s (vidd)
microscope. ) ) : v
3- Answer any 5 short questions. (5x2=10) oz Z L ey 5 §-3
(i) What is meant by electric field intensity? Write its -fﬂ//ﬁ KU1 S sl | e U”/":", WBIE @D
formula. p L
(i) Define Capacitance and state its Sl unit. E U ES SIS S u/.:.’.'/ G
(i)  How the direction of magnetic lines field are WL e §F B sy S 2 (D
dtermined in current carrying straight wire? N "g b
(iv)  Define Electric Power and its Unit. J“”g S ey L s J/Ui @v)
(v) How can we come to know that current has been S | u/uf J/ S (,J.v LA Jf )
established in the conductor? ‘
(vi) What is meant by Joule's Law? Ceslplf e Wi6 Z Jz (VD)
(vii) On what principle D.C motor work? e G/rg/ J,o,’ L/;,, ¢ s (vii)
(vii)  Define Lenz's law. Sl £ A (viid
4- Write short answers to any (5x2=10) oz Z Loty 5o (4
5 questions:
(i) What is meant by Thermionic Emission? ?L}’/Lr(c L}:’:, _fx.’/? )
(i) What is NOR gate? Draw its symbol. LS EUte Vel G
(iii) Show that with the help of truth table. : ., (i
= A. B:A.B.u:/cf.t"cu d/df‘fx»’;/ (iii)
X=A.B=AB
(iv) What is the difference between data and information? e G U u‘/:m;, AL Gv)
(v) Differentiate between Primary and secondary -u’/i'! 3P S S S A, (V)
Memory. ) ’
(vi) Write a role of radio isotopes in medical treatment. U,J Js 6 Jas 7 Yho S ekl Jé;w v
(vii)  Is it possible for an element to have different types of éu,,u, S P (; L (" ol Loy g ey Y (vid)
atoms? Explain.
(viii)  What is meant by background radiation? Sy e VY w3 6 (viid)
(Part-II - 55 )
Note : Attempt any TWO questions. Ox2=18) 2 eyzr ety @ ne §f:es
5.

(a)5




(a)

(b)

(@)

(b)

Define simple harmonic motion and prove that motion = ¢~ (ol oo o &2 Ly P S Fr L J

:)T:‘Orzszs attached with spring have simple harmonic - J}/ Jr/h}‘:/u‘{uﬁf JJL L2 S

Find the focal length of a mirror that forms animage , . & { s/ Ly e 14 M6 £ 344cm = 4y f) Y

5.6§ cm behind the-mlrror of an c.)bject placed at 34.4 4}/,/(}1# ,;~¢,f J(,; J// > ‘;? £ 5.66cm <& s
cm in front of the mirror. Is the mirror concave or " ¢ ¥ ®

convex?

Explain Coulomb's law of electrostatics and write its Qo S U1 72 -2 woloy S it £ i 2 2 U

mathematical form. i ’ o J@

Two resistances of 6 k{2 and 12 k() are connected in  _ Gfdfﬁ e 3/t JJ% ),L‘/JJ 1 $12 Q16 kQ

parallel. A 6V battery is connected across its ends, J’:’ e S b 86 § J6V J)’ Z s Ui fu
R ¢ = %

find the values of the following quantities: (a) o i . .
Equivalent resistance of the parallel combination (b) ) o7 ol J”? ‘j’/:’ (a) :éf’l’/ = Juu,w

Current passing through each of the resistances (c) J;‘Sg yrs u"’//'/ s (©) = s & e u’:/)/ Vi

Potential difference across each of the resistance J: %
What is the difference between AND and NAND e 24 uf),j Fsl sl el S G0k J'&@y Lo

gates? Explain the difference with the help of symbols
and truth tables.
Half life of radioacitve element is 10 minutes. If eo38 di ce e () $ ookl 1 gh L

the initial count rate is 368 counts per minute, find w 3 -
’ I TS e m5 e ee  IRR
time for which count rate reaches 23 counts. A (f o r St ¢ TJ’ 368 <=
by § eI o

-é =olos JJ/

(b)

(a)6

(b)

(a)7

(b)



MCQs Ans Key

Q:1(C) Q:2 (C) Q:3 (C) Q:4 (A) Q:5 (B) Q:6 (B)
Q:7 (B) Q:8 (D) Q:9 (A) Q:10 (B) Q:11 (D) Q:12 (D)




